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QUESTION 1

Which of the following conditions must be met for a static route to be active in the routing table? (Choose two.)

A. The next-hop IP address is up.

B. There is no other route, to the same destination, with a higher distance.
C. The link health monitor (if configured) is up.

D. The outgoing interface is up.

Correct Answer: CD

QUESTION 2
View the global IPS configuration, and then answer the question below.
config 1ips global
set fail-open disable
set intelligent-mode disable
set cp—accel-mode advanced

set engine-count O
end

Which of the following statements is true regarding this configuration? (Choose two.)
A. IPS will scan every byte in every session.

B. IPS acceleration is disabled in this FortiGate device\\'s configuration.

C. New packets requiring IPS inspection will be passed through during conserve mode.
D. FortiGate will spawn IPS engine instances based on the system load.

Correct Answer: AD

QUESTION 3

View the exhibit, which contains a partial routing table, and then answer the question below.
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FGT # get router info routing-table all

Bouting

~

C 24 is directly connected, port2

or VRF=12

.0/24 is directly connected, port3

4 0/24 [10/0] wia 10.1.0.100, port3
.1.0/24 is directly connected, portl

Routing table for VRF=21

10.1.0.0/24 [10/0] wvia 10.72.3 porté4
10.72.3.0/24 is directly conn portc4d
192.168.2.0/24 [10/0] wvia 10.72.. portc4d

L

Assuming all the appropriate firewall policies are configured, which of the following pings will FortiGate route? (Choose
two.)

A. Source IP address 10.1.0.24, Destination IP address 10.72.3.20.
B. Source IP address 10.72.3.27, Destination IP address 10.1.0.52.
C. Source IP address 10.72.3.52, Destination IP address 10.1.0.254.
D. Source IP address 10.73.9.10, Destination IP address 10.72.3.15.

Correct Answer: BC

QUESTION 4

View the exhibit, which contains a session table entry, and then answer the question below.

diagnose sys
ion infu plL 0=6 p dur lon=35 expir timeouc=300 f£lags=00000000

-" none 3I:IF'_I“L" £

hook=pre dir'LepLU act 2
(before, after) £ 1 ) o/ (0,0)

1 auth_info=0 chk _client_inf
=ff/ff app_ list=0 app=0 url

1'11::?1 5
npu info: flag=0x fload=0/0, ips offload=0/0, epid=0/0, ipid=0/0, wlan=0x0000/0x0000
v1lifid=0/0, wvtag_in=0 /0x0000 in_npu (" uutvnpu=UHD, fudw&n=DHD, qid=0/0
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Which one of the following statements is true regarding FortiGates\\'s inspection of this session?
A. FortiGate applied flow-based inspection.

B. FortiGate applied proxy-based inspection.

C. FortiGate forwarded this session without any inspection.

D. FortiGate applied NGFW flow-based inspection.

Correct Answer: B

QUESTION 5

What conditions are required for two FortiGate devices to form an OSPF adjacency? (Choose three.)
A. OSPF IP MTUs match.

B. OSPF costs match.

C. OSPF peer IDs match.

D. IP addresses are in the same subnet.

E. Hello and dead intervals match.

Correct Answer: ADE
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